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Find the Error Questions for SBI Clerk Mains, IBPS Clerk Mains,

SBI PO Pre and IBPS PO Pre Exams.
Find the Error Quiz 77

Direction: In the question given below, a sentence is given, divided into parts. One of the parts may
contain an error. Identify the part that contains the error, and mark it as the answer. Ignore errors
in punctuation. In case the sentence is correct as it is, mark option (E), that is, 'No correction
required'. Note - The words in bold are grammatically and contextually correct.

1. In our urgency to declare ourselves against these heinous acts as loud as possible, we
forget about the voices we drown with our self-righteous anger.

A. In our urgency B. against these heinous acts
C. as loud as possible, about the voices we drown D. With our self-righteous anger.
E. No Correction Required

2. The Justice Verma Committee recommended amendments that would make the legal
process for seeking redressal after sexual harassment quicker.

A. recommended amendments B. that would make the C. for seeking redressal after
D. sexual harassment quicker E. No Correction Required
3. Asking for the accused of “heinous” cases of rape to hanged is, yet again, another way

of separating ourselves from blame, because, in legal terms, the death penalty would
apply to the “rarest of the rare” cases of rape.

A. of “heinous” cases of rape B. to hanged is, yet again ourselves from blame, because, in legal terms
C. the death penalty would apply  D. To the “rarest of the rare” cases of rape.
E. No Correction Required

4, In ordering a judicial inquiry into the killing of the four suspects arrested for the rape and
murder of a veterinarian near Hyderabad, the Supreme Court has paved the way beyond a
probe that might command greater credibility than a routine police investigation.

A. In ordering a judicial inquiry into B. the killing of the four suspects
C. the Supreme Court has paved the way beyond D. a probe that might command greater credibility
E. No correction required

5. Economic data released by the government on Thursday suggest that India may be
stepping even closer to stagflation.

A. Economic data B. released by the C. suggest that India may be D. stepping even
E. No correction required




6. Commiissions of Inquiry are often seen as tools to manage public perceptive about
lapses on the part of the state whenever an untoward incident takes place.

A. are often seen as tools B. to manage public perceptive C. about lapses on the part of
D. the state whenever E. No correction required

7. Globally, the transportation sector account for a quarter of all energy-related carbon
dioxide emissions and its share will only increase in future.

A. Globally, the transportation sector B. account for all energy-related
C. carbon dioxide emissions and D. its share in future
E. No correction required

8. We have developed a catalyst, a solid material that helps to converting matter from one
form to another just as nature would but much faster.

A. We have developed a catalyst B. that helps to converting matter from C. another just as nature
D. would but much faster E. No correction required

9. The problem with existing technologies is that the conversion cost of doing so is
prohibitively expensive as it relies on multi-step processes.

A. The problem with existing technologies  B. conversion cost is prohibitively =~ C. expensive as it relies on
D. multi-step processes E. No correction required

10. With petroleum prices being low currently, the new process may not be commercial

viable yet.
A. With petroleum prices B. currently, the new C. process may commercial
D. viable yet E. No correction required

Correct Answers
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Explanations:

1.

There is an error in the Part C of the given sentence and we can see that here we are talking about a
word that will modify the verb of the given sentence. Here we are saying that we declare ourselves as
loudly as possible. This would have been the correct usage of the phrase as here loud has been used
and that is actually an adjective. The correct sentence would have been:
In our urgency to declare ourselves against these heinous acts as loudly as possible, we forget about
the voices we drown with our self-righteous anger.

This makes Option C the correct choice among the given options.

There is no error in the given sentence and that is why no correction is required here in this case.

This makes Option E the correct choice among the given options.

There is an error in the Part B of the given sentence because here we are speaking in the passive voice
and therefore the structure should have been ‘to+ be-verb + present participle’ however here it is not
correct. The correct one would have been to be hanged. The correct sentence would have been:

Asking for the accused of “heinous” cases of rape to be hanged is, yet again, another way of separating
ourselves from blame, because, in leqal terms, the death penalty would apply to the “rarest of the rare”

cases of rape.

This makes Option B the correct choice among the given options.

“Pave the way for” is a standard English expression/phrase.
It cannot be changed whimsically.
The usage of ‘beyond’ after ‘pave the way’ is thus erroneous in the given sentence.

Hence, option C is the correct answer.

The given sentence is absolutely correct.
There is no error in the sentence.

Hence, option E is the correct answer.
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The wording of the sentence requires a noun after the adjective ‘public’.
But, ‘perceptive’ is an adjective.

This is erroneous.

The correct word (=noun) in place of ‘perceptive’ would be ‘perception’.

Hence, option B is the correct answer.

There is an error of the subject-verb agreement in this sentence because the subject is in singular
number whereas the corresponding verb is in plural form only. The subject the transportation sector is
singular in number and that is why the corresponding verb will be accounts for. There is no error in any
other part of the sentence.

The correct sentence would be:

Globally, the transportation sector accounts fora quarter of all energy-related carbon dioxide
emissions and its share will only increase in future.

This makes Option B the correct choice among the given options.

There is an error in the Part B of the given sentence since we have used the infinitive form of the verb
here and that is why the present indefinite tense should be used of the corresponding verb.
Here convert should have been used. There is no error in any other part of the given sentence.

The correct sentence would be:

We have developed a catalyst, a solid material that helps to convert matter from one form to another
just as nature would but much faster.

This makes Option B the correct choice among the given options.

There is no error in the given sentence since all the parts are correct grammatically. Therefore no
correction is required in this context.

This makes Option E the correct choice among the given options.
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10.

There is an error in the Part C of the given sentence since here the adjective form commercial has been
used whereas the succeeding word is an adjective as well. An adverb can only modify an adjective and
an adjective cannot do the work. Therefore the usage of the word commercial would not be correct
here but the correct usage would have been commercially. There is no error in any other part of the

sentence.
The correct sentence would be:
With petroleum prices being low currently, the new process may not be commercially viable yet.

This makes Option C the correct choice among the given options.

www.smartkeeda.com | testzone.smartkeeda.com U

SBI | RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET |LIC | Railways | CLAT | RIS Joi
oin us



https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/

N I 7
—'— SmartKeeda

= The Question Bank

TestZone

India's least priced Test Series platform

-

ALL BANK EXAMS
2020-2021 Test Series

3599/-

300+ Full Length Tests

i Brilliant Test Analysis
“ Excellent Content

™ Unmatched Explanations

JOIN NOW



https://testzone.smartkeeda.com/Test/Pricing

	Direction: In the question given below, a sentence is given, divided into parts. One of the parts may contain an error. Identify the part that contains the error, and mark it as the answer. Ignore errors in punctuation. In case the sentence is correct...

